T

—

6! n A R A
| BELICHTUNGSNACHWEIS: BELICHTUNGSNACHWES
12814 | Solk= 10% VON SOLL= 10% YON |
sqf] | 29m2X 2.9m2 19m2= 1,9m2 |
TSl | HABEN=7.6m2= 26% HABEN>"5.5m2= 49
| N P |
|| FREIES N 7 FREIES |
g | BUROZ1 N L/ BUR02 2|
N\ /S
1 28.94m? £ogt N Ao 18.94m? |
17 | N |
6 | /x\ |
12 | N |
AR 40M i I
i ) . |
Ly / |I;SU1I§2/EMPF. |
b 7} /’ I ) \\ I
| % BELICHTUNGSNACHWEIS: |
cq L 1E0 S0 0 150 5 gsOLL= 10% VON™ |
i 1S ER 26m2= 2.6m2 ANERE
% Rz . HABEN= 11.5m2= 44% |
L 47— —— _m_ - A
e T
5 160 STOoH -
H-——teet—tm HoeH rolbmpe ——+il——+——————
W RWA
gofepl Lol
e ———————— =S p—— ==

L L L
: : : : : : 2
e} 1 [Fe— S e} 1 [Fem— S
|9t @‘@m &) |9 O O |9

5

5

d—
N~

BUFR

OH

AUS SUD

NUTZFLACHE: 84,77m2

22.55




